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(De Bono, 1992)

1 17
2 17
3 13
4 14

10

1



7
(I0C)
SR
N
I0C
R
N
0C > 0.50(
55
1 1
2 10
3 12
4 13
5 9
5
c
{ALONGKORN U
11 3 8 4
2 9
6 10
21 4 6 9
5 8
3 1 6 10 7

O© o1 N W D

2541)

10

12

45

10

12



46

13

13

12

10

55

17

(10C)

10Ca

— AN MO I O ©O© I~ oo o

o
—

—
i



4

|0C

07

07

67

67

AN N T O ©O© I~ O o

67

N O < O © I~ oo o



48

I0C

111111111611”{01

14

10



12

49



9. 55

1 1
(rating scale) 5
7
L . , ol
1.
4
F 7 | 1l
X-
X |
X
X X+
X+
301
3.01-3.85
3.85
3.85-4.69
4.69
3

3-3.73



3.73
3.73-4.46
4.46

1

4.18-4.27
3.45
2
3.91-4 23
3.55-3.82

3.82-4.21
3.45
2

3.45-3.55

291

14

1-4

4.09

3

3.64-3.82
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3=10

4=10

6=10

7=10

4=10

8=10 4=3
9=4
10=3
6=4 9=10
8=6
10=10 =4
11=6
4=4 5=3
9=6 10=5
11=2
7=10 5=6
8=4

(De Bono, 1992)

7=10 5=3
11=7

220 10=10
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5=5  12=10

9=5

8=6  13=10

1224

6=10  9=10
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1
8 (10 )
(10 )
(5 )
(5 )
2.3)
1
]
(10 )
| (10 )
(4 )
(3 )
(3 )
) (Feletti, 1986
, 2532)
30%
5 .
30% 1 16.5
2 18 3 19.5
4 22 5 15 91
9
9
() 30%
1 1 0.75 098=1
2 1.13 146=15
3 0.58 076=1
4 0.50 065=1
5 0.58 0.76=1
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0.52
0.54
0.71
0.63
4.00

071
0.58
0.58
0.75
1.38
1.00
1.46
133
0.96
3.46

0.92
0.54
0.75
0.96
0.71
0.79
121
0.96
113
0.96
0.96

30%
122=15
068=1
0.70=1
092=1
081 =1
520=55
16.5
092=1
0.76 =1
0.76=1
098=1
179=2
130=15
190=2
173=2
125=15
450 =5
18
119=15
070=1
098=1
125=15
092=1
103=15
157=2
125=15
146=15
125=15
1.25=15
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1.04
1.04
1.25
0.46
0.92
0.79
0.54
0.79
0.54
1.04
0.58
0.58
4.33

0.83
1.33
121
0.46
1.33
0.65
0.96
1.08
1.58

30%
363=4
195
135=15
135=15
163=2
060=1
119=15
103=15
070=1
103=15
070=1
135=15
0.76=1
076=1
563=6
22
1.08=15
173=2
157=2
060=1
173=2
084=1
125=15
141 =15
206=25
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686
(try out)
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270
173
40
203
40
) 2
1
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3
2 3 4 5
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1 (maximum) (minimum)
(mean) (median) (mode) (range) (standard
deviation) (skewness) (kurtosis)

2. (validity)

21 (content validity)
I0C :AY rR
N
I0C
R
N
2.2 (construct validity)
(confirmatory factor analysis) LISREL 8.30
3.
0C= k Zai2'
k-1
a =
k =
la i2 = h
ai2 =
4,
= nZ xY-(Zx)(| y)

V [nS x2- (Xx)3[nX v (ZV)]
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